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AR % |12 97. LFEFKAR 98. JLFBREER 99. NEFHAEHH

& B %o AOFAHEY) | ER % JESE 44 (AOFAHY)
EELi 1 10.04 27 32.17 24 0.32
ERH 14 5.43 18 35.80 11 0.67
7= 13 5.47 21 34.31 22 0.38
FEET 4 7.92 13 39.06 21 0.39
Ti&EH 5 7.24 15 37.56 23 0.35
Al 6 715 7 45.83 15 0.51
BET 2 9.22 17 36.14 18 0.46
TiEEBKT 18 4.03 29 31.15 20 0.40
mA+h 7 6.75 22 34.31 19 0.42
Emmh 10 6.09 12 40.38 12 0.64
Ll 12 5.93 8 4534 9 0.85
BLEHT 11 6.06 11 4118 4 1.43
ZEHFIHET 20 3.76 14 38.46 25 0.29
H EFHT 8 6.67 28 31.58 7 1.05
Z | ET 25 243 9 42.86
P 41IES) 3 8.57 23 33.33
B+ 32 1.06 2 212
= 9 6.62 20 34.62 27 0.25
A LLIET 30 1.89 32 14.29 26 0.27
REHT 22 3.45 3 53.33 3 1.61
T {%HT 24 2.92 24 33.33 17 0.49
RINF 1 26.19
LNDHT 16 4.30 6 48.11
=) BT 33 0.81 1 180.00 16 0.49
Fh - {EHT 17 412 2 58.06 13 0.53
& )11 8T 19 3.80 4 51.92 14 0.51
&N ET 27 2.31 10 4286 30 0.16
SR ET 29 1.91 30 28.57 6 1.09
BHE# 21 3.57 16 36.84 29 0.19
JEETET 31 1.43 25 33.33
P4 5 + T 15 4.67 26 32.56 10 0.81
XK HHET 28 1.93 31 27.27 8 0.88
=R+t 26 2.36 5 50.00 5 1.18
= ET 23 3.05 19 35.14 28 0.25
= E 7.64 35.14 0.43
> MR 265 MR 264 MR 264
=g LEHMEE LEMEE EHBABURRE
H AT BEZ K BEZ K BHBBUR R

FRENE%/ A0 x 1000
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97. LFEFEAER
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(% (AAFAHY)

1.92
6.62
5.43
3.80
2.92
1.91

40km

)




=] IR =h==
HETH & 1= 100. NKIEEEE
| & IBf FFA s pHtY)
=™ 7 1,628
ERH 8 1,463
7= 9 1,262
FEET 20 263
Ti&EH 3 3,861
Al 15 469
BEM 17 370
TiEEBKT 11 1,033
mA+H 22 113
Emmh 10 1,152
Ll 12 956
BLEHT 26 11
ZEHFIHET
H E7ET 2 4,544
% HHET
e+t
BEERAT 14 505
= 5 2,927
AL ET 24 50
REHT 13 538
T {%HT 6 1,840
KINF
LNDHT
=) BT 21 199
it {ZHT 19 328
&)1 BT 4 3,054
#R &N ET
SR ET 23 60
BHE#
JEETET
/a5 + BT 16 456
XK HHET 18 340
=R+t 1 6,288
= ET 25 46
= E 1,351
> MR 265
=g EHPABURERE
HAT BHBBUR R
&5

(FA CRE1#HEH7Y) )

3,054
1,262
505
328
50

0
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